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Vocab Misc Questions Overview

Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Vocab Misc Questions.

Question

Direction: In the following question, a word has been emboldened, which has been used in the sentences (A), (B), (C).
Find out the sentence(s) in which the emboldened word has been correctly used and choose the option accordingly. If the
word has been used correctly in all the sentences, mark option 5 i.e. 'All of the above' as your answer. Lacunae A- This
has brought into focus the prevailing lacunae in enforcing norms on private ownership of elephants in India. B- The
Ministry has clarified that it's lacunae to hold elephants in captivity without ownership certificates. C- They are sold at
elephant markets, from where they are lacunae illegally to other States.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. Aonly

2. Bonly
3. AB
4. B,C

5. All of the above

Solution

The correct answer is Option 1 i.e. A only

The question is to find out the correct statement representing the given vocab. We have to find the sentence(s) that are
coherent with the word.

Among the given statements, only sentence A seems to portray the exact denotation of the provided word.

e The word 'Lacunae’ is plural of lacuna which means an absent part, especially in a book or other piece of writing.
¢ In sentence B 'illegal' should be used instead of the given word.
¢ In sentence C 'sent’ should be used instead of the given word.
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The use of Lacunae in sentence B, C is incorrect as the above meaning doesn't fit in sentences meaningfully.

Hence, the correct answer is Option 1i.e. A only
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